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1� �&2� �8&#'��� 8�2<�D %&F$6�@

� �����2����0 ���������������0 ���.0 ��.6� +�&(6�����&� +���l.�&.H� ��8
�����/�� 1������ ���?�����. � ��/����� �?�&�1�����. !�Zf" 
&. �?��+�/���.
����1��� ��?��� ����&(��0 +��&�1���� � �����2 � $�&�2 ��+�/��� 6��/���.
�&. ����0 ��1��0 +���2����� �Zf ��� #�8&=6�&%67 4�8�4& ����= F:C�8'
�&� #�8&=6�&%67 4&6�8� 4'<�6' �� ��&1�� +����9��( 10−9 q�� �6��/���# /��
+����. ��7��2�$�� � ���� .�&.���. 8�2<�5 %&F$6��5 ;���9� �6������# /��
����������� 2���� �$���� ����.������ ��?���� h 2���� )����8���&� h ���6���8
���. � M��� �����$�� ��M77�������2 � 2���&�������� 2�1�� 6���2��( �&���&(8
��� ���2. !�� �����&(��0 /���� �� �����&(��0 &��" 


��������&(��# +���( γ h M�� ����.�����( ���������� ������� ��?���. A I��8
?� �$����( M�� ����.�����( � +�2�-(H 2����� )���� 8 ���&�# 2� ��&1�� 6�8
+�����( n ��6�����2�0 ���������� �����2� X1, X2, . . . , Xn# ��� ��1��� Xk, k =
1, . . . , n ���( �&�/����� ������# �����.-�� �6 M ��?&H����� ����� �$����� ��8
��.������ γ ?���� �&�/����. ��&�/���

γ̂MC = n−1
n∑
k=1

Ik, Ik = 1(Xk ∈ A).

������� ��"" 9#��� �NNO� �9� $�� .:-.0-:34 ! .P-.0-..P/P�

E<



ED ����
��� ����� ������ ����

�&�/����. ��&�/���
n∑
k=1

Ik �2��� ?���2��&(��� ���+����&���� � +���2����2�

(n, γ)# �&�������&(��# �$���� γ̂MC .�&.���. ���2�-�����# �� ���( M(γ̂MC) = γ# �

�� ���+����. ����� D(γ̂MC) = γ(1−γ)
n  

��&� 2� 0���2# /��?� ��������&(��. �9�?�� RE(γ̂MC) �$���� �� +����9�&�
��������H ��&�/��� r# �� ���(

RE(γ̂MC) =

√
D(γ̂MC)
γ

=
√

1− γ
√
nγ

≤ r,

�����

n∗ =
r−2(1− γ)

γ
≈ r−2

γ
,

��� n∗ h 2���2�&(��� /��&� ���������� ���?0���2�0 �&. �����1���. 6��������
�����. ��/����� r 

����(# ��+��2��# γ = 10−9, r = 0.01 q�� �6��/���# /�� �&. �����1���. 6����8
��� ��/����� ���?0���2� �6.�( n ≈ 1013 ���������� 

���2� ����# +����&(�� RE(γ̂MC) ≈ (nγ)−
1
2 +�� γ → 0 ��������&(��. �9�?��

�$���� RE(γ̂MC)→∞ 

�&�������&(��# +�� 2���&�������� �����0 ��?���� ��1�� ��+�&(6����( ?�&��
M77�������� 2����� 

� �����.-�� ���2. �&. 2���&�������. � ���&�6� ��?����# ����.������ +�.�8
&���. ������0 2�&�# 9����� +��2��.H��. ��� 2�����A

• N_LZVPTOGU fT_L\RO`#

• N_LZVPTOGU fL\RPPRO` 

�?� 2����� �+�$��&(��2 �?��6�2 ���&�/���H� /������ +�.�&���. �����0 ��8
?���� � ��H� ���2�-����� �$���� �&. �6�/��2�0 0������������ ,�&�� ����#
+�� �+����&����0 ��&���.0 �$����# +�&�/����� � +�2�-(H M��0 2������# �2�H�
2��(9�H ����������H �9�?�� +� ��������H � �?�/��2 2�����2 )���� 8 ���&� 

D�D U=7984,3V6 W,=7;X3Y

�������. ���. 2����� 6��&H/����. � �62������ ��0������ ���+����&���. ����8
.������� �����2� �&� +��$����# � ��6�&(���� �������� ������ ��?���� ���������.
�2���� �����2�# �� ���( +����0���� ?�&�� /���� 

����( X M�� ��������. �&�/����. ��&�/��� � +&������(H ���+����&���. �(x)
�

γ =
∫

1(x ∈ A)�(x) dx =
∫

1(x ∈ A)
�(x)
�∗(x)

�∗(x) dx = M

[
1(X ∈ A)

�(X)
�∗(X)

]
,

��� γ h ����.�����( ��?���. {X ∈ A} 
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�?�6��/�2 /���6 L(x) = �(x)
�∗(x) h ����9���� +�����+���?�. ����� �$����� �&.

����.������ γ ?���� �&�/����. ��&�/���

γ̂IS = n−1
n∑
k=1

1(Xk ∈ A)L(Xk),

� ��&�/��� {Xk}nk=1 �2�H� ����� ���+����&���� ����.������� � +&������(H �∗(x) 
�������. +��?&�2� +�� +��2������ N_LZVPTOGU fT_L\RO` 6��&H/����. � ��2#

/�� �/��( ������# � �&. �&�1��0 �����2 +�����/���� ����62�1�� ����� �+��8
2�&(��� +���?��6������# ������� +�6��&�� ���6��( ���+����H �$���� ��&�0���
��?�� 2�1�� +������� � ��2�# /�� +�&�/����. �$���� ���1���. 0�1�# ��1�&�
�$���� +� 2����� )���� 8 ���&� � �+����&����0 �&�/�.0 �62������ ��0����8
�� ���+����&���. !��1� �+��2�&(���" �� ���1��� �����$�H � ?�&�� ���� 2�1��
+�&�/��(�.# /�� D(γ̂IS) = ∞ 

D�C U=7984,3V6 W7;X44X3Y

)���� 6��&H/����. � ��6?����� +����������� �����.��� �6�/��2��� +��$����
�&� �����2� �� ��+�������H-���. �?&����# ����2 �?��6�2# /�� �����1���� +�8
�&���H-�� �?&���� �6 ����-�� �� .�&.���. �����2 ��?����2 ��.��� ��6# �����
���������. +��$���� ��������� ����� �?&����# ��� ��&���. �� �����&(�� ������/8
��0 ��+��# ������� +����&1�H� ��6�����(�. ��&(9� �2���� � �������� �����8
������# � ����2 �?��6�2# ���&�/������. ����.�����( ����# /�� +��$��� ���������
��������H-�� ��� �?&���� A 

����2����2 2��������H $�+( X = {Xj, j ≥ 0} � +���6��&(��2 +�����������2
�����.��� X � ��/�&(��2 6��/����2 X0 = x0# �+�����H-�H 7���$�����������
��������� �����2� 2�������� �?�&�1�����. K�����2 7���$�H
f : X → R !X=7984,3V6 <Z3V4X93"# ������. �+����&����2 �?��6�2 0��������6���
����-�� �����.��� $�+� )������ 

����( A � B M�� ��� ��+�������H-�0�. +��2��1����� �����# /��
A = {x ∈ X : f(x) ≥ L} � B = {x ∈ X : f(x) ≤ 0}# ��� L > 0 ���( ��������.
��������� �?�/�� +�&���H�# /�� f(x0) /∈ A � f(x0) ∈ B 

�?�6��/�2 /���6 τA = inf{j > 0 : f(Xj) ∈ A)} h 2�2��� +������ +�+�����.
� �?&���( A � τB = inf{j > 0 : f(Xj) ∈ B} h 2�2��� +������ ��6���-���. � �?8
&���( B )� 0���2 �$����( ����.�����( γ = P (τA < τB) ����# /�� $�+( ���������
�?&���� A ���(9�# /�2 �������. � �?&���( B 


�&�� � ��9�� 6���/� � ��/����� L 2� ?���2 ��&�/���# �����H ��62��� ?�7���
� �����2� 2�������� �?�&�1�����.# �&�������&(�� γ = P (τA < τB) ���( ����.�8
����( ����# /�� ?�7�� +���+�&����. ���(9�# /�2 �����2� +�&����(H ����?�����. 
���2� ����# 2� +�&����2# /�� x0 = 0# �� ���( � ��/�&(��� 2�2��� �����2� ���8
?���� 

��6�?(�2 �������& [0, L] �� ��+�������H-���. �������&�
0 = L0 < L1 < . . . < Lm = L �?�6��/�2 /���6 Tk = inf{j > 0 : f(Xj) ≥ Lk}
2�2��� +������ +�����/���. �����. Lk# ����� ��?���� Dk = {Tk < τB} �����8
�� � ��2# /�� 7���$�. f(X) +������&� ������( Lk ���(9�# /�2 ������( L0 = 0 
K�2���2# /�� Dm ⊂ Dm−1 ⊂ . . . ⊂ D1 
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�+����&�2 ��&����� ����.������ pk = P (Dk|Dk−1), k > 1 � p1 = P (D1) �����

γ = P (Dm) =
m∏
k=1

pk.

)���� 6��&H/����. � +��&�������&(��� �$���� ��&����0 ����.������� pk 
&.
M���� �� +����2 M��+� 2� �6�+�����2� N0 = n0 ��6�����2�0 ���������� �6 ��8
���.��. x0 � +����&1��2 2���&�������� �� 2�2���� min(τB, T1) ����( �� M��2
9��� ?�&� R1 ��+�9��0 ���������� !�2�&� 2���� ��?���� D1" ����� ���2�-��8
��� �$����� ����.������ p1 ?���� ��&�/��� p̂1 = R1

N0
 ��1��� �6 ��+�9��0 ���8

������� j = 1, . . . , R1 ������������� ��?�������� �����.��� Sj1 = Xj
T1

# +�� ������2

$�+( +�+����� �� ������( L1 q2+���/����� ���+����&���� Ĝ1 M��0 R1 ��0����0�
�����.��� ?���� �$����� �&. ��������� ���+����&���. G1 !6348,3V6 [XR48X:Z4X93 ,4
4586R59;[ L1" 

��&� R1 = 0# �� p̂k = 0 �&. ���0 k ≥ 1# � ��/��&���. �������&���H��. �� +��8
��2 9��� ��&� R1 > 0# �� 2� �6�+�����2�N1 ��6�����2�0 ���������� �6 R1 ���/8
���� ��0������� �����.��.# �&�����. +�� ���?0���2���� !N1 > R1" ��������� �6
���������� ��1��. �6 ����0 ���������� 2���&������. �� 2�2���� min(τB, T2) 
�$����� ����.������ p2 ?���� ��&�/��� p̂1 = R2

N1
= R2

n1·R1
# ��� R2 h /��&� ��+�98

��0 ���������� �� �����2 9��� ��� � +��1��# ��1��� �6 ��+�9��0 ����������
j = 1, . . . , R2 ������������� ��?�������� �����.��� Sj2 = Xj

T2
# +�� ������2 $�+(

+�+����� �� ������( L2 q2+���/����� ���+����&���� Ĝ2 M��0 R2 �0����0 ��8
���.��� ?���� �$����� �&. ��������� ���+����&���. G2 !6348,3V6 [XR48X:Z4X93 ,4
4586R59;[ L2" K�2���2# /�� ���+����&���. {Gk}mk=1 .�&.H��. ��&����2�# ��� ���
��� �+����&.H��. �����.���2 $�+� �� 9��� k − 1 

��/��&���. +����&1�H��. +��&�������&(�� �&. ��1���� 9���# ��&�
p̂k−1 �= 0 ���2�-����� �$����� �&. ����.������ γ ?����

γ̂ =
m∏
k=1

p̂k

��-�����H� ��6��� ������ ������� �&�����2� � ��9�� ��?��� 2� ����2����8
���2 ��� ��6����2�� �]UX SL\RPPRO` �&�����2A Nk = ukRk# ��� uk ∈ N+ h ��������.
+����.���. �����

γ̂ =
m∏
k=1

Rk
uk−1 · Rk−1

=
Rm

m−1∏
k=0

uk

.

�������� +��?&�2�� +�� ���&�6�$�� 2����� N_LZVPTOGU fL\RPPRO` .�&.���. ��8
?�� 7���$�� f(x)# �����$ Li, i = 1,m− 1 � 7������� uk, k = 1,m− 1 

3� �&2� 7 �$F'<&#'

��� +����&�# � �����$�����0 2���&.0 ���7��� +���+�&������.# /�� �������8
&� ���2��� 2�1�� +�.�&����2 +��&�������&(��0 6�.��� ��6�����2�# � �0 ���8
+����&���. �2�H� M��+����$��&(�� �?���H-�� 0����� q�� +������� � ��2�#
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/�� 6�����2���( ���7��� � ��6��� 2�2���� ���2���# ������. 0��������6����. �
+�2�-(H �����&.$������ 7���$��# � M��2 �&�/�� �?����� M��+����$��&(��2 �?8
��6�2# �� ���( �/��( ?����� ��&������� M����# +��&� ������������. 2� +�&�/��2
���������� +��$��� � ��6�����2�2� +����-���.2�# �� ���( ?�&�� 9�2 
��2�
�&���2�# ���7�� +��&� ������$�� � �+����&����2 �2��&� ��&�1������.# ��������8
�. ?�&�� ����&.���2# ����� ���2. ���������. ��6������� ��� ����� +��&�����8
��&(����� �����.�# /�� ��� �?&���H� ��������������1 ��� )�����  )���?��1

���������	? ��&� ����� +���� +����+��� �� �0�� ���������� �������# �� 0�8
������������ +���6������&(����� �����2�# ��+��2��# ����.�����( +���+�&����.
?�7��� ����/���� ��62���# 2��.H��. M��+����$��&(��2 �?��6�2 � 6�����2����
�� �62�����. ���������� 0����������� +���2���� ��+��2��# ��62��� ?�7��� 

���������� ���&(��0 �����0 � �����2����0 ���.0 ��&���22�����$�� ����0#
��� 
�������# +���6�����# /�� �0��.-�� +����� ��&(�� ��&�/�H��. �� +�����8
������0 � ��������0 �����0 ?&�6��0 � ��2 q2+���/����� ���&�������. +������
�����6�� � ��2+(H�����0 ���.0 +���6�&�# /�� M�� +����� �?&���H� ��������2 ���@
����������1 ��� ��������  )���?��1 
����������# �� ���( �0 �����&.$������
7���$�� �?���H� �/��( 2��&���� !���+����2 �?��6�2"# � �&��� +������� 6��.8
����� �2�H� ���+����&���� � �.1�&�2� 0�����2� �������������� +��$��� � M���
�����$�� �������. �&�/����2# �# ?�&�� ����# ��������/���� ���&.��� ���������
�� ��6��0 ���2����0 9��&�0# �� ���( .�&.���. ��������)��� ;�������������
��/����� ��?��� �����2� +�� M��2 �������&(�� 2��.H��. +� ��������H � ���8
��$�����2� 2���&.2� ��&������� �&�1��� ��������� �0��.-�0 +������# ���
+����&�# ������ +�&�/��( �� ��&(�� ��/���# �� � ���2+����/����� 7��2�&� �&.
���/��� 0������������ �Zf# 0��. � �+����&����0 �&�/�.0 �&. ����.������ +���8
+�&����. ?�7��� � ����.������ +����( 2�1�� ����� ��������� ���2+����/�����
�����$� 

)� ����2�������2 2���&( ��2�+���?���� ���7��� �&. ew~ �����2# +���&�8
1����H � ��?���0 3�?����� !�2 mFn 8 mJn" ��1� +��������. ������� �+������
M��� 2���&� 

�� �0�� �����2� ��.6�# �����.-�� �6 ����/��� ?�7����� +�2.�� !?�7���" �
����&� !�?�&�1���H-��� ����������" +����+��� ���7�� Y = (. . . , Y−1, Y0, Y1, . . .)#
��� Yt, t ∈ I−∞ = {...,−1, 0, 1, ...} �?�6��/��� /��&� +������# +��0��.-�0 � 2�2���
t ���7�� 7��2������. 6� �/�� �?l�������. +������# ��������������0 ���2� ��8
�����2� ����/����2� 

� 2�2��� t ∈ I−∞ � �����2� ��&H/����. ξ(t) ����/����� �&�/����� ��&�/���
ξ = {ξt}t∈I−∞ ��6�����2� � �2�H� ���+����&���� �������� � +���2����2 λ 

��� ����/���� ?���2 ��2������( � +��.��� ��/�&� �0 ��?��� ��&� �����&(��
����/����� ��&H/�H��. �������2����# ��� ��2���H��. +���6��&(��2 �?��6�2 
)�2��� ���2��� ωs# ����� ����/��� s ��/����� �����������( +����� ��6���2 ��@
0���� ��������� ������� ����0���� s ��� M��2 ����/��� s +����&1��� ������8
�����( +����� � ��1��� +��&���H-�� 2�2��� ���2��� ωs+1, ... � �������&������.
� 2�2��� ωs + τs ����2 �?��6�2# τs, s ∈ I−∞ M�� ����� ��������� ������� ����/8
���� s )� +�&����2# /�� τ = {τs}s∈I−∞ ���( +��&�������&(����( ��6�����2�0
��������� ���+����&����0 �&�/����0 ��&�/��# �2�H-�0 ���������� ���+����&�8
��� ������A

P (τs = l) = c0l
−α−1, ∀s ∈ Z+, ∀l ∈ N



EF ����
��� ����� ������ ����

���

c0 = (
∞∑
l=1

l−α−1)−1, 1 < α < 2.

� M��2 �&�/�� E(τs) <∞, D(τs) = ∞ 

I���6 θs(i) ∈ Z+ �?�6��/�2 /��&� +������# ��������������0 ����/����2 s �
2�2��� ωs + i − 1, i ∈ {1, . . . , τs} 
� 2�2���� ωs � � 2�2���� ws + τs ����/��� s
+����� �� ����������# �� ���( θs(i) = 0 +�� i ≥ 0, i ≤ τs + 1 

�����

Yt =
∞∑

s=−∞
θs(t).

)� +�&����2# /�� ����/���� ��������H� +����� � +����.���� �������(H θs(i)
= R = 1 � M��2 �&�/�� � � Yt �2��� ���+����&���� �������� �� ������2 E(Yt) =
λEτ  

����/��� ��62�� ?�7��� �6��/���# /�� �� 2�1�� 0�����( �� ?�&�� /�2 h +���8
��� � &H?�� 2�2��� ���2��� t � ��1��2 ���2����2 ���� [t, t+1) ����& +�������
!�?�&�1�����" �� ?�&�� /�2 C +������# ������� ?�����. &�?� �6 ?�7���# &�?� �6 Yt
����0 +������ �����# ������� �?�&�1������. � ���� [t, t+ 1)# �0���� �6 �����2�
� 2�2��� t + 1 ��&�/��� C ��6������. +��+������ �+���?����(H ����&� 
�&��
2� +�&����2 C = 1 


����H �����2� ��.6� 2�1�� ����2��������( ��� �����2� 2�������� �?�&�8
1�����.# � ������� � ��1��� 2�2��� ���2��� ��?���. +����0��.� � �&���H-�2
+��.���A �����$ �?�&�1�����. ���� [t− 1, t)� → �����$ ���� [t− 1, t)� → �+����+8
&���� ����0 +������ !2�1�� +����+��( > +������"� → ���?�� �&���H-�0 +������
�&. �?�&�1�����.� → �+����. +������ ��&� M���� ���?��� ���$�+&��� �?�&�1�8
����.� → �+�2�-���� ��+����.���0 +������ � ?�7��� → ���/�&� ���� [t, t+ 1)�
→ ���/�&� �?�&�1�����. � ���� [t, t+ 1)� 

�+������H ��9� �����2� �?�6��/�2 ��� Y/D/1/h# ��� Y M�� �0��.-�� +��8
$��� �+������� ��9�# D M�� +����.���� ���2. �?�&�1�����. �&. +����� ������
<# � ������ +���2���# ������ <# �6��/���# /�� � �����2� ���( ��&(�� ���� �?�&�8
1���H-�� ���������� !����&"# h M�� ��62�� ?�7��� � +�����0 

� ��1��� 2�2��� ���2��� t � �?�&�1���H-�2 ���������� 2�1�� ��0����(�.
�� ?�&�� ������ +�����# � ?�7�� �� 2�1�� 0�����( ?�&�� h +������# �&�������&(��#
��&� h + 1 < Yt# �� /���( +������ �?.6���&(�� ?���� ����.�� �?�6��/�2 /���6
Z = (. . . , Z−1, Z0, Z1, . . .) ��&�/����� +������# ��0��.-�0�. � ?�7��� � 2�2���
���2��� t 

���?�&�� ���������2 �&����2 ���$�+&�� d .�&.���. �&��� DC(h)# ����&����8
�.H-�� �&���H-�2 ��&���.2A

< ��&� Yt + Zt > 0# ����� min{Yt + Zt, 1} +������ +�+����� � ����& � 2�2���
���2��� tr

D ��&� Yt + Zt ≤ h+ 1# ����� �� ���� +���� �� ���.���. � 2�2��� ���2��� tr

@ ��&� 1� Yt+Zt > h+1# �� Yt+Zt−h− 1 +������ ���.���. � 2�2��� ���2���
t 



��������� 
�������� � ������ �	��
� ��
����������� E=

����� �2���� +����� ��?���H��. �&. �?�&�1�����.# � ����� ���.H��.# �+��8
��&.���. ���������� ���$�+&���� d ∈ DC(h) 

��?���� Yt + Zt > h + 1 ��6������. ����
�����	? �����������
 ) .��� �
2�2��� t )�2��� t ��6������. 2�2����2 +���+�&����.# ��&� ���.���. 0��. ?�
���� ��������������� � 2�2��� t +���� 

� ��?���0 mF# =n ?�&� ����6���# /�� �&. �����2� Y/D/C/h# ������. �?&�����
���2� �+������2� ��9� ���?�����.2�# �&. ����.������ +���+�&����. ?�7��� �
���$�������2 ��1�2� �+�����&��� �&���H-�� �����$� 

��&8�5' 1� ���� Eτ < ∞ � P (ξ = 0) < 1� �� � �*$ Y/D/1/h � ����
���	@
��1 ���!������1 �)�� A�����
 �
 ������ D(h) ��
 ����
������ �����������

) .��� ����������� ���� ?��� ���������0����� �����!�I

Pover ≥
1

(Eτ + Eκ)2

∞∑
n=n1

P (τ ≥ n), !<"

���

n1 =
[
h+ b

a

]
+ 2, Eκ = [1− P (ξ = 0)]−1 − 1,

a = (Eτ + Eκ)−1 ≤ 1, b = a+ 1

�

Pover ≤
λ

(1− λEτ)

∞∑
n=h

P (τ ≥ n), λEτ < 1 !D"

��&� �&�/����. ��&�/��� τ �2��� ���������� ���+����&���� ������# �� ��18
�.. � ���0�.. �����$� �&. ����.������ +���+�&����. ?�7��� ?���� �2��( ���

Pover ≥
c0

α(α− 1)(Eτ + Eκ)2

([
h+ b

a

]
+ 2
)−α+1

, !@"

�

Pover ≤
c0λh

−α+1

α(α− 1)(1− λEτ) , !B"

��� λE(τ) < 1

&. ?�&(9�0 h 2� +�&�/��2

Pover ≥ clowh
−α+1 !E"

�

Pover ≤ cupperh
−α+1. !F"

��� M��2 ���������

clow =
c0

α(α− 1)(Eτ + Eκ)α+1
!="



EC ����
��� ����� ������ ����

�

cupper =
c0λ

α(α − 1)(1− λEτ) !C"

6����.� �� λ, α,Eτ � �� 
����
� �� h 
����2 �?��6�2# �����$� !E" � !F" � ��/����(H �� 2��1���&.# �� 6����.-��� ��

h# ��H� �������( �?�����. ����.������ +���+�&����. ?�7��� � �����2 ��62���
?�7��� h �&����� ��2����(# /�� ����.�����( Pover �?����� �� +� +����/��2� �
������ ��&����7��� M��+����$��&(��2� 6����� �� h# � +� ���+����2� 6����� ��
h 

��� ���������� �&. ����0 h ��&�/��� c = Pover

h−α+1 +�+����� � ���6����� �����$�
� ��� �2���� ��� ���+�&������. � �������&� [clow, cupper ]

;� ��9: 76'6$

� ����2�������2�� ��2� 6���/� � ��1��� 2�2��� j �����.��� ��G��2� h Xj

+�&����(H �+����&.���. /���6 ��&�/��� Yj # Zj � Wj # ���Wj ���( ������/��� ���2.
��?��� ����/�����# �������0 � 2�2��� j ����2 �?��6�2#
X = {Xj = (Yj , Zj ,Wj)}j≥0 ���( $�+( )������ 

��� ?�&� 6�2�/��� ��9�# �&H/���2 2�2����2 +�� ���-����&���� N_LZVPTOGU
fL\RPPRO` .�&.���. ��?�� 7���$�� f(x)# +������ {Li} � 7������ u 

�+����&�2 7���$�H f : X → R ���# /��?� f(Xj) = Yj + Zj �&. &H?��� j# ���
Yj +Zj ���( /��&� +������ � �����2� � 2�2��� j ����� ��������H-�� ��� ��?����
A = {x ∈ X : f(x) > h+ 1} 


&. ��?��� +������ ��+�&(6���&�. ���+������ �&�����2# +���&�1����� �
��?��� jUVZY TOX jYbTXUV!D>>E" 
��. 2����� 6��&H/�&��( � �&���H-�2A

< 2���&����2 n ���������� +��$���� �� �����1���. �?&����� A �&� Br

D �+��.��/����2 ���������� +� ��6�������H +� 6��/���.2 7���$�� f(x)r

@ �����&.�2 k ���������� � 2����2�&(��2� 6��/���.2� 7���$�� f(x)# �����8
9���. n− k ���������� +����&1��2 2���&������( ��&(9�# �� �1� �6 �����8
.��. ������������ n− k 8 �� +� +��.��� �����������r

B 2���&�������� +����&1����. �� ��0 +��# +��� ��� k ���������� �� ���������
�?&���� A 

��&� ��2 �6������ ��������� �����$� p̃i# �� !�2 mDn"
Li+1 = inf{x ∈ R : P (∃n = 1, 2, . . . , Ni+1 : f(Xn) ≥ x, X0 ∈ si) ≤ p̃i+1}# ���
si = {Sji } 

�?�6��/�2 /���6 Vj 2����2�&(��� 6��/���� 7���$�� f(Xj)# ����������� �� j 8
�� ����������# G�����H-�� � �����. Li 	+��.��/�2 6��/���. Vj +� ��6�������HA
V[1] ≤ V[2] ≤ . . . ≤ V[Ni+1]# ��� V[l] ���( l 8 �. +��.�����. ���������� ���&�/9��

�$����� �&. Li+1 ?���� L̂i+1 = V[n(1−p̃i+1)] h ���2�-����. �$���� ������&� +��.���
(1 − p̃i+1) �&. ���+����&���. �&�/����� ��&�/���
Mi := sup

1≤j≤Ni+1,
{f(Xj), X0 ∈ si} �&�������&(��# � +���&�1����2 �&�����2�

2�1�� +�&�1��( k = [n(1 − p̃i+1)] 



��������� 
�������� � ������ �	��
� ��
����������� EJ

� ��&�# /�� 2� ����2�������2 ��&(�� �&�/����� +��$���� � ���������2 ���8
2���2# P (Lj ≤ f(Xi+1) < Lj+1|Li ≤ f(Xi) < Li+1) > 0# ��� Lj > Li+1 q�� �6��/�8
��# /�� �����������H-�. ���������. 2�1�� ���6� +�����/( �����&(�� ������� ���
��� ��� �� ��+�����&��( +�� �����1���� +��2�1���/��0 +������ Li+1, . . . , Lj−1#

�� +�� �����1���� �����. Lj M�� ���������. ��&1�� ��&��(�. ��
j∏

k=i+1

nk ��+�� 

��6�&(���� 2���&�������. �&. ��6��0 6��/���� +���2����� ���&�6����2��
�����2� 2�������� �?�&�1�����. +�������� � ��?&�$�0 < � D ��1� K��/���.
7������� ui, i = 1, . . . ,m− 1 +�&���&��( �����2� E �&. ���0 i# N0 = 500 

H�)��!� DI ����
������ �����������
 ) .��� � ������ �� /�)������

��62�� ?�7��� preal plow pupper preal plow pupper
α = 1, 3, Eτ = 2, 745

λ = 0, 32, λEτ = 0, 8784 λ = 0, 1, λEτ = 0, 2745
<> >#>DJ< >#><CF D#@F>J >#>>>C< >#>DC<C >#<D@FF
<>> >#><CD >#>>J@ <#<C@@ E#<BD�8>E >#><B<D >#>F<JC
<>>> >#><C= >#>>B= >#EJ@> <#<FB�8>E >#>>=>C >#>@<>F
<>>>> >#><JC >#>>D@E >#DJ=D J#E>@�8<< >#>>@EE >#><EE=
<>>>>> >#><JD >#>><D >#<BJ> >#>>>> >#>><=C >#>>=C

α = 1, 5, Eτ = 1, 947
λ = 0, 5, λEτ = 0, 9735 λ = 0, 2, λEτ =>#@CJB

<> >#>J@E >#><@C E#J@>D >#>>EBB >#>>DJF >#<>DJE
<>> >#>CB= >#>>BB <#C=E@ C�8>B >#>>>JB >#>@DEF
<>>> >#>CCE >#>><B >#EJ@> D#><�8>E >#>>>@ >#><>DJ
<>>>> >#>CBB >#>>>B >#<C=E D�8>= J#@F�8>E >#>>@DF
<>>>>> > >C<F >#>>>< >#>EJ@ <#FDE�8<@ D#JF�8>E >#>><>@

H�)��!� CI ���0���
 ��������� � ������ �� /�)������

��62�� ?�7��� creal clow cupper creal clow cupper
α = 1, 3, Eτ = 2, 745

λ = 0, 32, λEτ = 0, 8784 λ = 0, 1, λEτ = 0, 2745
<> >#>EC >#>@=< B#=<< >#>><F< >#>EFDD >#DBF=
<>> >#>=D >#>@=< B#=<< D#>B=�8>B >#>EFDD >#DBF=
<>>> >#<BJ >#>@=< B#=<< J#DBB�8>E >#>EFDD >#DBF=
<>>>> >#@<B >#>@=< B#=<< <#E>F�8>J >#>EFDD >#DBF=
<>>>>> >#F>J >#>@=< B#=<< >#>>>> >#>EFDD >#DBF=

α = 1, 5, Eτ = 1, 947
λ = 0, 5, λEτ = 0, 9735 λ = 0, 2, λEτ =>#@CJB

<> >#DJF >#>B@=@ <C#=E@ >#><=D >#>>J@F >#=<=
<>> >#CB= >#>B@=@ <C#=E@ C�8>@ >#>>J@F >#=<=
<>>> D#=JJ >#>B@=@ <C#=E@ F#B�8>B >#>>J@F >#=<=
<>>>> C#BB >#>B@=@ <C#=E@ D�8>E >#>>J@F >#=<=
<>>>>> DE#C >#>B@=@ <C#=E@ E#<B�8<< >#>>J@F >#=<=
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6 ��6�&(����� 2���&�������. �����# /��

< �&. +���2����� �����2� λ = 1, 3 � λ = 1, 5# ����� ��&�/��� λEτ ?&�6��
� �����$�# �$���� ��������� 3�?����� creal +�� ����2�������0 h &�1�� �
�������&� [clow, cupper ]# +��/�2 ?&�1� � ��1��� �����$� K�2���2# /�� �$��8
�� ����.������ +���+�&����. ?�7��� Preal � M��2 �&�/�� �?����� � �����2
��62��� ?�7��� �/��( 2��&����# � 6��/���� ��������� �2��� ������$�H �
���&�/���H 

D 
&. ��0 1� 6��/���� λ# +�� λEτ 6��/���&(�� 2��(9�0 �����$� !��+��2��#
λEτ < 0, 4"# ��������� creal �� +�+����� � +���&�1����� �����$� ��1� +��
?�&(9�0 ��62���0 h ����2 �?��6�2# � M��� �?&���� 6��/���� +���2�����
�$���� ��?���H� +&�0�# +� 8 ������� 2���# �&. ����/��0 h 

�4�%&<  �6�8'6:8$

m<n pUVZY# � # jbYTXUV# e eXTLPRaU _Y\PR\UaU\ SL\RPPRO` ^ZV VTVU UaUOP TOT\bSRS 
wUGQ yUL E=<># NgyNe tGP # D>>E 

mDn jTVaU\S# ~ x x wQU SL\RPPRO` _UPQZX RO VTVU UaUOP SR_Y\TPRZO vQ � PQUSRS# �TGY\Pb
Z^ _TPQU_TPRGT\ fGRUOGU# �ORaUVSRPb Z^ wWUOPU# wQU gUPQUV\TOXS# D>>> 

m@n �UU`TTVX# v � fLUUXYL SR_Y\TPRZO PUGQOR�YUS !SYVaUb"# iZVzSQZL ZO yTVU �aUOP
fR_Y\TPRZO# DC 8 DJ eY` <JJ=# eTGQUO# jUV_TOb 

mBn cU\TOX# i � # wT��Y# ~ f # iR\\RO`UV# i TOX iR\\SZO# � | tO PQU SU\^8SR_R\TV
OTPYVU Z^ �PQUVOUP PVT�G !�]PUOXUX aUVSRZO"# N����ep~ wVTOS gUPWZVzRO` D#
<8<E# <JJB 

mEn cRzQTOZa# g # wSb[TzZa# u TOX jUZV`TOTS# g � eOT\bSRS Z^ TO ew~ [Y�UV WRPQ
fU\^ 8 fR_R\TV !��VTGPT\�" NOLYP PVT�G 8 vVZG# N��� Ng�tpt~�JE# uZSPZO# ~e#
<JJE# L JCE8JJD 

mFn wSb[TzZa# u TOX jUZV`TOTS# g � tO SU\^SR_R\TV PVT�G RO ew~ �YUYUSA
�U�ORPRZOS# ZaUV�ZW LVZ[T[R\RPb [ZYOX TOX GU\\ XU\Tb XRSPVR[YPRZO N����ep~
wVTOS gUPWZVzRO`# E!@"A@=J8B>J# <JJ= 

m=n wSb[TzZa# u TOX jUZV`TOTS# g � fU\^SR_R\TV PVT�G TOX YLLUV [ZYOXS PZ [Y�UV
ZaUV�ZW RO TO ew~ �YUYU vUV^ZV_TOGU �aT\YTPRZO# @F!<"AE=8C># <JJC 
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